Sheetl

tracepoint CPU/thread |timestamps other info

pipe:reader 2,1 246642 35 84 tid = 0x2FB46A, seq = 6066, type = 42

pipe:read_message 2,1 3 4 7 11 14 14 tid = Ox2FB46A, seq = 6066, type = 42, data_len = 4096, loops = 1
osd:ms_fast_dispatch 2,1 39 79 tid = 0x2FB46A, seq = 6066, type = 42, reqtid = 0x2FB46A, reqnum = 4622, reqinc = 1
osd:opwg_process 9,2 697344 105 378 tid = 0x2FB46A, reqtype = 8, reqnum = 4622, reqinc = 1

osd:rpg_do_op 9,2 124 127 208 208 213 373 373 tid = Ox2FB46A, seq = 6066, type = 42, reqtid = Ox2FB46A, regnum = 4622, reqinc = 1
osd:rpg_execute_ctx 9,2 213 215 234 236 237 238 366 370 tid = Ox2FB46A, seq = 6066, type = 42, replytid = Ox2FB46A, repoptid = 0x17B2
osd:rbe_issue_op 9,2 250 254 260 270 tid = 0x17B2, seq = 0, type = 0, origtid = 0x2FB46A, iteration = 1
osd:rbe_issue_op 9,2 276 279 285 291 tid = 0x17B2, seq = 0, type = 0, origtid = 0xX2FB46A, iteration = 2

pipe:writer 10, 3 275 276 338 362 tid = 0x17B2, seq = 2605, type = 76, data_len = 4759

pipe:writer 11,4 297 298 355 389 tid = 0x17B2, seq = 3095, type = 76, data_len = 4759
filestore:queue_transactions | 9, 2 350 362 tid = Ox2FB46A

osd:eval_repop 9,2 367 367 tid = Ox2FB46A, seq = 6066, type = 42

filejournal:prep_single_write 12,8 370 383 383 tid = 0x2FB46A, journalg_len = 0x40A9

pipe:read_message 8,5 846 847 849 850 tid = 0x17B2, seq = 3086, type = 77, data_len = 0, loops =0
pipe:read_message 9,6 934 935 936 939 tid = 0x17B2, seq = 2600, type = 77, data_len = 0, loops = 0
osd:handle_replica_op 8,5 971 980 tid = 0x17B2, seq = 14, type = 77

osd:ms_fast_dispatch 8,5 968 983 tid = 0x17B2, seq = 3086, type = 77, reqtid = 0x0, reqnum = 0, reqginc = 0
pipe:reader 8,5 844 965 986 tid = 0x17B2, seq = 3086, type = 77

osd:handle_replica_op 9,6 986 995 tid = 0x17B2, seq = 40, type = 77

osd:ms_fast_dispatch 9,6 984 998 tid = 0x17B2, seq = 2600, type = 77, reqtid = Ox0, reqnum = 0, reqginc =0
pipe:reader 9,6 933 981 1002 tid = 0x17B2, seq = 2600, type = 77

osd:eval_repop 11,2 1029 1029 tid = 0Xx2FB46A, seq = 6066, type = 42

osd:eval_repop 11,2 1033 1036 1042 tid = Ox2FB46A, seq = 6066, type = 42

pipe:writer 12,7 1047 1048 1096 1161 tid = Ox2FB46A, seq = 6065, type = 43, data_len =0
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